BOARD OF INTERMEDIATE AND SECONDARY EDUCATION, DINAJPUR
Web : www.dinajpureducationboard.gov.bd, Email : dinajpureducationboard@gmal.com

HSC EXAMINATION-2017
Subject : Higher Mathematics-I
Head Examiners Name, Address.

Subject Code : 265

SLNo. | Code Name, Designation & Address S AL A @I IR Examiner Code
YOoOR=0)
Samarendra Nath Roy R005-R0094=09
Examiner €0d-¢08=08
Asstt. Professor o ) q’ )8Q®QBQQ 2 R _
0d. | 2505 | ) E0Y-E0H>=08
Pirganj Women's College )B q )\gb' 8 b'b
Thana: Pirganj Zilla: Thakurgaon o o YOR0-Y0N9=08
Tel No. 01714332655/01671384089 V&0 d-9EoY=0Y
W
Mohammad Mainul Islam RE¢0E=0>
Examiner ©00d=0)
Asstt. Professor —
oR. 3002 Dinajpur Govt. College O) q'beb‘)quQ YooV wosa:m
Thana: Dinajpur Sadar Zilla: Dinajpur V038-V0Vo=09
Tel No. 01716815725 Y
€&03=0)
ggnﬁgg: [ Hannan 8003%-800Y=0Y
Vice Principal €003-€00R=0%
09. | 5003 | g\ darganj D. W. College 05A3VO0E8RR 008-GOS=5¢
Thana: Sundarganj Zilla: Gaibandha —
Tel No. 01716305422 ¢€53-¢¢35=09
R4
%/i(il‘. nzl&i;l;:aful Alam ¢009=0%
08 5501 | Asso. Professor 0)d QBQQOORRB 8@03-8Ed3=3%
. Carmichael College GROR-CEIV=>¢
Thana: Rangpur Sadar Zilla: Rangpur o )b’)b@b’@) Qb >
Tel No. 01763200996/01819686159

fa3 @3 AAFFAUS O MR A TfgRe A4 *Awe7 795 4T RS Soo/seold THIAFE Taae@ 0v/oy/2034
SifTdd W @3 1 BT AR T TG $3/0u/2059 SRR Y TIFRITI/RTS TS TS T | &4 w1
e T (@RS Tz RAT (1T Beatw@d OMR «@F TR e ¢o/00olb T (26 IR GRCT ACws Fa0e
A GR AIMFEMZ GFE ({04 W IMG AT LT GTAIR FCF ATART FACO F01 | AT MM I SATFD T ey el
AT (T, T (1T, AT MAFR (27F '8 AAFT FF (FobT amifers, sH=106= o, areeid fret @IS, areeiR)
=3 I forire | AR &AW fFRTE 33/0v/2054a ity @k /g R¥Te Sir/ov/208q ©ifite qTE JTe
TR (T, AT et T, AR ot e 207 |

TereiE Azl e/oEd T AT O QYN Sifwe-td SMS-9 JrHie/-
TR (FF FE TR ANTE (@I, Y Teaoed A 8 e A3t g
CTRIZ 7o SRS FMIT | (@I Aqwe @ o 77 Tiwee I8 Mo @ B o T @
GBS AF-AIRY SIF qFFSIT T IO A | e

T 0@ 03-@dubrd (oY)



ol

R

O |

M 8 Tw MG B @, Mg

G%p, 93, AT 20593

fRaw: Twes Afde (377 #@)
T7 @re: que
2 —x 2 3+y
as)cmmm{y_l 2}{4 2}
A, —x=3+y
y—1=5
A, x=-8
y=35
S (x,)=(=8,5)
1 2 1
) eI TR, M =|3 -3 -1
2 1 0

SM?-3M + MI
1 2 1t 2 1] [t 2 171t 2 171t 00
=[3 -3 -1{|3 -3 -1|-3/3 =3 —1|+{3 -3 —-1{|0 1 0
2 1 02 1 0 2 1 0| (2 1 010 01
7 -7 -3
=(-14 20 8
1 -1 1

1 2 1
M [M|=3 -3 —1=10+1)-1(0+2)+1(3+6)=1-3+9=6

2 1 0

WY [M]0 TodrR M @ o miw s
M, =LM,==2 M;=9 M, =1, M,,==2, M,;=3, M, =1, M;,=4
M33=_9

11 1 ‘ 11 1
LAdM =| -2 -2 4 o 2AAM L,y
M| 6
9 3 -9 9 3 -9
) o1 [ AMCATT (I {97 ST (T (SFEA AR [ I =7 I F SR (SFF T |
q) A (39 IART B (OFRF G :/‘Lff/]
A
25,25 94
7147 14
92 27+ 9 A\ (s ~ =
dEICe | —i+— j——k [i+b/+3k)=0
[71 147 14j(l i +3k)
“b=Y,
N A+B=3i+6]-2k
AxB=—-i+j+k
-0 =cos” (4+B).(4xB) =cos ' 0=90" I, 6=90°
‘2+EHZXE
F) ST AR, 3(x° +y°)=5x+y+1=0
Jia

m(%,—%),aﬂﬂé:T

) LIS 4(4,0), B(0,3)
AB (@AF ANFAT 3x+4y =12

et e end <2331 4x3-12]
T INCrSTI

AR quaa AR (x—3)° +(y—3) = ok

25
369
A, X +y’—6x—6y+—=0
y y 25




8 |

¢ |

Y |

) AB €3 TAF X @R (FY (3,3) R @7 TNwa QR EF (@47 AN 4x—3y-3=0
AB 8 EF T4R (aq¥ 9] E 93 g1 [48 39)

2525
102 111
F R g | o,
) [25 25}

CD T AAFAT 3x+4y—30=0
D R g+ (10,0)
111

feeefr geea el (x—@)(x 10)+ (y——)(y 0)=0

T, x2+y2—@x—£y+%:0
257 25 5
) MSAT TR, "P,=2%x"C,, q, n=15
%) W 0T (B Soi="C, x° C; x> C, + C, x° C; x* C, = 462
) TCTOEHANTE =[S (VG F = So

. (G ST AT = 12?2 453600

|
T3¢t 8% & 36 va W FF (WG ST AL = ;=2520

|
719, w3 85 fNrstia Touy TSI Rt = %
. 793 STEAICE AP @0 ST TR = 3¢ 0 & Y= 3¢d0
. 723 STEACE AN T @0 AT 7RI = 8¢ 9V00 - D320 = 80y8ko
F) Cosf = 3

i3
.sin @ =i, s.cotfd =%

V13

_\/2—00‘[29_ -1
N2+cot?0 V17

Q) &

%) ETfoE wee @ Ay I |

3) 4, y=sine’™
dy Jix

. e
Cdx 241—-x

%) (hog) (1)=he(x) = [3x+51j2+1
“ (hog)(1) =2

S, (goh)(x) = g h(x) =
. (g0h)(2)=0

IEATF (hog)(1) - (goh)(2) =2 = ©IFTAF
'aT) g(‘xl) g(xz) X, x,€A

aT’ X=X,

Sg 9 G T |

4y = g()—x >
x+1

Viex

cose

x*+1-5
3(x* +1)+1

S5+y

ql, x=
1-3y

S5+y
Q< g(5+yjz 1-3y —y
1=3y 3(5+—yj+1
1-3y
. g(A) = B, TR g & FIHT |
WEY ¢ OF GF qR AMRE T, o g Rmyan |

-5




q1

b

ql, x=
-3y
-1 5+y -1 5+x
=7 g x) =
g ) 1“3y g =13
- er_l
a; 1;—»0
ax
=7
2x) In2x
X X
1-In2x
y1: xz
YTASAT 2 p, =0 A, x =
—3+2In2x
O
X

e

o x =y e L2 e g @ @3 T = 7

X

& 2
) .[deJr.[g(x)dx
1 X 1
e? 2
= I&dx+.[e"dx=2+ez —e
1 X 1

2
@) | 1 cos(in 2)dz = sin(in 2)
z
1
%) jg(x)dx
2
= .[mxsin’1 xdx =m{x?sin1 )c—%sin1 x+%x\/1—x2 }rc

2 2
o) NG TG z—2+y—2=l,b>a
a
a
- b2_x2
a

b
faefar craee = 2J’%\/b2 _xzdx:’%b

0



